Price Elasticity of demand formula (Ed)

Ed = % change in Quantity / % change in price  (this is the general formula)
If you got a 4.5 for the Ed, then you would interpret this as a 1% change in the price causes 4.5% change in the quantity.  Anytime this number is >1, it is elastic, = 1 it is unitary elastic, and < 1 it is inelastic.  (Remember that we are dropping negative sign). 

the point formula:

Ed =     (Q2 - Q1)/Q1

        (P2 - P1)/P1

the mid point formula:

Ed =     (Q2 – Q1)       X    (P1 + P2)

        (Q1 + Q2)             (P2 – P1)

Where Q1 = first/starting quantity, Q2 = is the second/ending quantity

Where P1 = first/starting price, P2 = the second /ending price

In order to get elasticity you need to start with a certain price and quantity (P1 and Q1) and you need to end with a certain price and quantity (P2 and Q2).  Elasticity is measuring how quantities change (how fast they change - elastic or >1, or how slowly they change – inelastic or <1).  Once you have a starting point and an ending point, you can calculate elasticity.  You calculate the Ed along a demand curve.  

Any demand curve has many starting and ending points.  Suppose that at a price of $8 the quantity was 2, (so P1 = 8, Q1 = 2), and that when the price dropped to $6 the quantity at that price was 5 (so P2 = 6, Q2 = 5).  

The elasticity here would be:

  Ed = (5-2)/ (2+5) X  (8+6)/ (6-8) 

= (3/7) X (14/2)  = 3.00  

Try practicing this with the demand curve that is listed in chapter 6, where the textbook has calculated all the Ed answers and see if you can follow along.  

Total Revenue (TR)

For Total Revenue (TR) that is  = P X Q.  So in the example above.  The TR at $8 is = $16 = 8 x 2.  The TR at $6 is 30 = 6 x 5.  

What happens to TR, depends on what happens with P and Q.  How fast or slow are the P and Q moving?  Are they elastic, inelastic or unitary elastic?  So, whatever the Ed is, will determine what happens to TR.
